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while& 9] 7| &3

treehit =0
while treehit < 10:
treehit = treehit + |
print("LI2E %dH BASLICEH "% treehit)
if treehit = 10:
print("LI= HHZLICE ")

LIRE 1Y BsLICH
LIZE 28 BASLICH
LIZE 38 BAsLICH
LIZE 44 BASLICH
LIZE 5 BASLICH
LIZE 6 EASLICH
LIFE 78 BsLICH
LIFE 8 BASLICH
LITE 9 BASLICH
LIZE 10H EASLICH
L= E0iZLICH




while®- 74 2 w4 1717

coffee = 10
money = 300
while money:
print("=
coffee = coffe
print("=f2 HO|e|
if coffee = 0:
print("HIL|2t Ct EHZSLICEH ZHol
break

2rtoL| HUlE ELICH
Hilel 2= WHLICH
oL HIIE SLICH
Hiulel 2= BHLICH
2oL HUlIE SLICH
Hilel 2= HLICH
ol | HUlE SLICH
Hiulel 22 BHSLICH
US| HUIE SLICH
Aol 2= SHLICEH
ool | HUlE SLICH
Hilel 22 OHSLICH
Aol HUIE SLICH
Hilel 2= HLICH
oL | HUIE SLICH
Hilel 2= 2HSLICH
oL HUIE SLICH
Hilel 2= 1HLICH
2rtoL| HUlE SLICH
Hilel 2= DHLICH
2t CH U sLICH ZHHE SAIELICEH
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while< 74 A = wil-A L1717

In [4]:  coffee = 10

print
coffee

2002 1 AHUIE SLICch
FHe: 300
ZLICH
= FHg: 100

=2 ChAl @241 3 =R #sLich

Al ZsLIcH




while ¢ W A F O = Fol7}7]

In [B]: a=0
while a < 10:
a=at]l
ifax2==0
cont inue
print(a)

e continueE AIEotH 1] ZEQ| XAH0| S=& Al, Ct
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while True:
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In [B]:




o C|AENA 5002

A= 0Ol =
= =

128 10007t X2 XtAH = = 32| Hi=+=2

82 25

o A=[20,55,67,82,45,33,90,87,100, 25]
o ZE=XdIZ 1~101E £E5
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In [7]:

test_list = ['one', ‘two',

for i in test_|list:
print(i)

a = [(1,2),(3,4),(5,6)]
for (first,last) in a:
print(first+last)

‘three']




©o. .9
O O

for 9]

for mark in marks:
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fors 2} continue

marks = [90, 25, 67, 45, 80]
number = 0

for mark in marks:
number = number + |

~gZIeLICt,
. BgLICh
. BLIch,




fori- ¥ range 9



fors-} range st
for i in range(m

print(

for i in rangewﬁ

print(i)

WO~ &= Wy — O



range 2] o A]

sum =0

for i in range(1,11):
sum = sum + i

print (sum)

55

In [16]: marks = [90, 25, 67, 45, 80]
for number in range(len(marks))
i f marks[number] < B0:
cont inue
print("%dH St = . B¢ " % (number+1))

FEL|CE.
FELICE.
3




form O 2 B A~E & 7]

In [21]: a =[1,2,3,4]
result = []
for num in a:
resul t . append(num+3)
print(result)

[3, 6, 9, 12]

result = []

for i in range(5):
result . append(i)

print{result)

(0, 1, 2, 3, 4]




fori A5 T4

o forE= AEGI(H 5~122 HtHFI SHU= SILEE HEANR.
o for2= 0|E0tH &=2 BE2&+E F6HAIR.

o A=[70,60, 55,75, 95,90, 80, 80,85, 100]
o S=2 0/ =X=+=E SHotMN K.

o pets =['dog, ‘cat’, ‘parrot’, ‘squirrel’, ‘goldfish’] [Ezise

parrot B
squirrel 8
goldfish 8

o for2= 0I20IH c|AEE HIZ SH0HM K.
o B=[JFLF, Tk, 2]



